Erratum



Erratum to: Covariant tensor formalism for partial-wave analyses of ψ decays into $\gamma B \overline{B}$, $\gamma \gamma V$ and $\psi(2S) \rightarrow \gamma \chi_{c0,1,2}$ with $\chi_{c0,1,2} \rightarrow K \overline{K} \pi^+ \pi^-$ and $2\pi^+ 2\pi^-$

Sayipjamal Dulat^{1,2,a}, Bing-Song Zou^{1,3,b}

¹ Institute of High Energy Physics, CAS, P.O. Box 918(4), Beijing 100049, People's Republic of China

² Department of Physics, Xinjiang University, Urumqi 830046, People's Republic of China

³ CCAST (World Laboratory), P.O. Box 8730, Beijing 100080, People's Republic of China

Received: 24 August 2020 / Accepted: 12 October 2020 / Published online: 29 October 2020 © Società Italiana di Fisica and Springer-Verlag GmbH Germany, part of Springer Nature 2020 Communicated by Ulf Meissner

Erratum to: Eur. Phys. J. A26, 125–134 (2005) https://doi.org/10.1140/epja/i2005-10140-1

In the section 4 of our original paper, Eur. Phys. J. A 26, 125-134 (2005), for the PWA formulae of $\psi \rightarrow \gamma R \rightarrow \gamma \gamma V$, we labelled the two photons as one from the first step and another one from the second step as distinguishable. But in reality the two photons are as identical particles indistinguishable. In this Erratum, we provide the corrected section 4 of the paper by taking into account the two photons in the final state as identical indistinguishable particles. For completeness of this Erratum, we provide for the process under consideration, our notations and then the correct PWA formulae.

4 Covariant tensor formalism for ψ decay into $\gamma \gamma V$

We are considering the double radiative decays of the ψ meson,

$$\psi(p, m_{\psi}) \to \gamma \ R \to \gamma(q_1, m_{\gamma}) \ \gamma(q_2, m_{\gamma}') \ V(p_V, m_V),$$
(1)

where p, q_1 , q_2 and p_V are the four momenta of the ψ , two photons and the vector particle $V(\rho, \phi, \omega)$, respectively; $m_{\psi}, m_{\gamma}, m'_{\gamma}$ and m_V denote the third components of each particle's spin. The transition amplitude can be written as follows by using the polarization four-vectors of the initial and final state particles,

$$A = \psi_{\mu}(p, m_{\psi}) \varepsilon_{\nu}^{*}(q_{1}, m_{\gamma}) \varepsilon_{\alpha}^{*}(q_{2}, m_{\gamma}') A^{\mu\nu\alpha}$$

$$= \psi_{\mu}(p, m_{\psi}) \varepsilon_{\nu}^{*}(q_{1}, m_{\gamma}) \varepsilon_{\alpha}^{*}(q_{2}, m_{\gamma}') \sum_{i} \Lambda_{i} A_{i}^{\mu\nu\alpha} , \quad (2)$$

where $\psi(p, m_{\psi})$ is the polarization four vector of the ψ mesons; $\varepsilon_{\nu}(q_i, m_{\gamma})$, i = 1, 2 are the polarization vectors of the two photons. The sum over the two physical polarization states of a photon is given by,

$$\sum_{m_{\gamma}=1}^{2} \varepsilon_{\mu}^{*}(q_{i}, m_{\gamma}) \varepsilon_{\nu}(q_{i}, m_{\gamma}) = -g_{\mu\nu} + \frac{q_{i\mu} (p - q_{i})_{\nu} + (p - q_{i})_{\mu} q_{i\nu}}{q_{i} \cdot p} - \frac{(p - q_{i})^{2}}{(q_{i} \cdot p)^{2}} q_{i\mu} q_{i\nu} = -g_{\mu\nu} + \frac{q_{i\mu} p_{\nu} + p_{\mu} q_{i\nu}}{q_{i} \cdot p} - \frac{p^{2}}{(q_{i} \cdot p)^{2}} q_{i\mu} q_{i\nu} \equiv -g_{\mu\nu}^{(\perp)}(q_{i})$$
(3)

where the relations $q_i^{\nu} \varepsilon_{\nu}(q_i, m_{\gamma}) = 0$ and $p^{\nu} \varepsilon_{\nu}(q_i, m_{\gamma}) = 0$ hold.

For ψ production from e^+e^- annihilation, the electrons are highly relativistic, with the result that $J_z = \pm 1$. If we

The original article can be found online at https://doi.org/10.1140/epja/i2005-10140-1.

Sayipjamal Dulat is currently affiliated with School of Physics Science and Technology, Xinjiang University, Urumqi 830046 China. Bing-Song Zou is currently affiliated with Institute of theoretical Physics, Chinese Academy of Science, Beijing 100190, China; School of Physics, University of Chinese Academy of Sciences, Beijing 100049, China; School of Physics, Central South University, Changsha 410083, China.

^ae-mails: dulat98@yahoo.com; sdulat@xju.edu.cn (corresponding author)

^be-mail: zoubs@mail.ihep.ac.cn

$$\sum_{m_{\psi}=1}^{2} \psi_{\mu}(p, m_{\psi}) \psi_{\mu'}^{*}(p, m_{\psi}) = \delta_{\mu\mu'}(\delta_{\mu 1} + \delta_{\mu 2}).$$
(4)

Then the differential decay width for the ψ radiative decay to an n-body final state is:

$$\frac{d\Gamma}{d\Phi_{n}} = \frac{(2\pi)^{4}}{2M_{\psi}} \cdot \frac{1}{2} \cdot \frac{1}{2} \sum_{m_{\psi}=1}^{2} \sum_{m_{\gamma'},m_{\gamma}=1}^{2} \sum_{m_{\psi}=1}^{2} |w_{\mu}(p,m_{\psi}) \varepsilon_{\nu}^{*}(q_{1},m_{\gamma}) \varepsilon_{\alpha}^{*}(q_{2},m_{\gamma'}') A^{\mu\nu\alpha}|^{2} \\
= \frac{(2\pi)^{4}}{2M_{\psi}} \cdot \frac{1}{4} \sum_{m_{\psi}=1}^{2} |\psi_{\mu}(p,m_{\psi}) \psi_{\mu'}^{*}(p,m_{\psi}) g_{\nu\nu'}^{(\perp)}(q_{1}) g_{\alpha\alpha'}^{(\perp)}(q_{2}) A^{\mu\nu\alpha} A^{*\mu'\nu'\alpha'} \\
= \frac{(2\pi)^{4}}{2M_{\psi}} \cdot \frac{1}{4} \sum_{\mu=1}^{2} A^{\mu\nu\alpha} g_{\nu\nu'}^{(\perp)}(q_{1}) g_{\alpha\alpha'}^{(\perp)}(q_{2}) A^{*\mu\nu'\alpha'} \\
= \frac{(2\pi)^{4}}{2M_{\psi}} \cdot \frac{1}{4} \sum_{i,j} \Lambda_{i} \Lambda_{j}^{*} \sum_{\mu=1}^{2} U_{i}^{\mu\nu\alpha} g_{\nu\nu'}^{(\perp)}(q_{1}) g_{\alpha\alpha'}^{(\perp)}(q_{2}) \\
\times U_{j}^{*\mu\nu'\alpha'} \equiv \sum_{i,j} P_{ij} \cdot F_{ij},$$
(5)

where

$$P_{ij} = P_{ji}^* = \frac{(2\pi)^4}{2M_{\psi}} \Lambda_i \ \Lambda_j^*,$$
(6)

$$F_{ij} = F_{ji}^* = \frac{1}{4} \sum_{\mu=1}^2 U_i^{\mu\nu\alpha} g_{\nu\nu'}^{(\perp)}(q_1) g_{\alpha\alpha'}^{(\perp)}(q_2) U_j^{*\mu\nu'\alpha'} .$$
 (7)

 $d\Phi_n$ is the standard element of n-body phase space given by

$$d\Phi_n(p; p_1, \dots p_n) = \delta^4(p - \sum_{i=1}^n p_i) \prod_{i=1}^n \frac{d^3 \mathbf{p}_i}{(2\pi)^3 2E_i} .$$
 (8)

4.1 Amplitudes for the doubly radiative decay $\psi \rightarrow \gamma \gamma V(\rho, \omega, \phi)$

This is a three step process: $\psi \rightarrow \gamma R$ with $R \rightarrow \gamma V(\rho, \omega, \phi)$ and $\rho \rightarrow \pi^+\pi^-, \omega \rightarrow \pi^0\pi^+\pi^-, \phi \rightarrow K^+K^-$. The intermediate resonance state *R* that may appear in the process with J^{PC} values are $0^{++}, 0^{-+}, 1^{++}, 1^{-+}, 2^{++}, 2^{-+}$, etc. Here J, P, C are the intrinsic spin, parity and C-parity of the *R* particle, respectively. For $\psi \rightarrow \gamma R$, we denote the spin-orbital angular momenta between the photon and ψ by *S* and *L*, respectively. The tensor describing the first and the second steps will be denoted by $\tilde{T}_{\mu_1...\mu_L}^{(L)}$ and $\tilde{t}_{\mu_1...\mu_{L_1}}^{(L_1)}$, respectively. The vector describing the third step will be denoted by V_{μ} , where $V(\rho, \phi)_{\mu} = p_{1\mu} - p_{2\mu}$, here we use the fact that π^+ and π^- (or K^+ and K^-) have equal masses, and

$$V(\omega)_{\mu} = \epsilon^{\mu}_{\nu\lambda\sigma} p_{1}^{\nu} p_{2}^{\lambda} p_{0}^{\sigma} [B_{1}(Q_{\omega\rho0}) f_{(12)}^{(\rho)} B_{1}(Q_{\rho12}) + B_{1}(Q_{\omega\rho2}) f_{(01)}^{(\rho)} B_{1}(Q_{\rho10}) + B_{1}(Q_{\omega\rho1}) f_{(02)}^{(\rho)} B_{1}(Q_{\rho20})].$$

Now we write the decay amplitude of the ψ into two photons and a vector in a general and compact form using the covariant tensor formalism. When writing the covariant tensor amplitude we have to keep in mind that there are two identical particles (photons) in the final state, due to Bose statistics decay amplitude is symmetric with respect to the exchange of photons. There is one independent covariant tensor amplitude for $\psi \rightarrow \gamma 0^{++} \rightarrow \gamma \gamma V(\rho, \omega, \phi)$

$$U^{\mu\nu\alpha} = g^{\mu\nu} \left(f^{(R)}_{V\gamma(q_1)} + f^{(R)}_{V\gamma(q_2)} \right) f^{(V)} V^{\alpha}, \tag{9}$$

where $f^{(V)}$ represents either $f^{(\rho,\phi)}_{(12)}$ or $f^{(\omega)}_{(012)}$,

$$f_{V\gamma(q_i)}^{(R)} = \frac{M_R \ \Gamma_R}{(p_V + q_i)^2 - M_R^2 + iM_R \ \Gamma_R} ,$$

$$f^{(V)} = \frac{M_V \ \Gamma_V}{p_V^2 - M_V^2 + iM_V \ \Gamma_V} ,$$
 (10)

here M_R , M_V and Γ_R , Γ_V are the mass and width of each resonance.

There is also one independent covariant tensor amplitude for $\psi \to \gamma 0^{-+} \to \gamma \gamma V(\rho, \omega, \phi)$

$$U_{12}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\alpha\beta\rho\delta} p_{\lambda} \\ \times \left(\tilde{T}_{\sigma}^{(1)}(q_{1}) (p - q_{1})_{\rho} t_{\beta}^{(1)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} \right. \\ \left. + \tilde{T}_{\sigma}^{(1)}(q_{2}) (p - q_{2})_{\rho} t_{\beta}^{(1)}(q_{1}) f_{V\gamma(q_{1})}^{(R)} \right) V_{\delta} f^{(V)} ,$$

$$(11)$$

where

$$\widetilde{T}^{(1)}_{\mu}(q_i) = \widetilde{g}_{\mu\nu}(p) (q_i - p_R)^{\nu} B_1(Q_{\psi\gamma(q_i)R}) ,
\widetilde{t}^{(1)}_{\mu}(q_i) = \widetilde{g}_{\mu\nu}(p_R) (q_i - p_V)^{\nu} B_1(Q_{R\gamma(q_i)V}) .$$
(12)

For the production reaction $\psi \rightarrow \gamma 1^{++}$ there are two independent covariant tensor amplitudes; there are also two amplitudes for the decay reaction $1^{++} \rightarrow \gamma V(\rho, \omega, \phi)$, all in all we have four amplitudes,

$$U_{1}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\alpha\beta\rho}_{\sigma} p_{\lambda} \left((p-q_{1})_{\rho} f^{(R)}_{V\gamma(q_{2})} + (p-q_{2})_{\rho} f^{(R)}_{V\gamma(q_{1})} \right) V_{\beta} f^{(V)} , \qquad (13)$$

$$U_{2}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\alpha\beta\rho\delta} p_{\lambda} \\ \times \left(\tilde{T}_{\sigma\zeta}^{(2)}(q_{1}) (p-q_{1})_{\rho} \tilde{t}_{\delta}^{(2)\zeta}(q_{2}) f_{V\gamma(q_{2})}^{(R)} \right. \\ \left. + \tilde{T}_{\sigma\zeta}^{(2)}(q_{2}) (p-q_{2})_{\rho} \tilde{t}_{\delta}^{(2)\zeta}(q_{1}) f_{V\gamma(q_{1})}^{(R)} \right) V_{\beta} f^{(V)} ,$$

$$(14)$$

$$U_{3}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \ \epsilon^{\alpha\beta\rho\delta} \ p_{\lambda} \Big((p-q_{1})_{\rho} \ \tilde{t}_{\sigma\delta}^{(2)}(q_{2}) \ f_{V\gamma(q_{2})}^{(R)} \\ + (p-q_{2})_{\rho} \ \tilde{t}_{\sigma\delta}^{(2)}(q_{1}) \ f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} \ f^{(V)} \ , \tag{15}$$

$$U_{4}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\alpha\beta\rho\delta} p_{\lambda} \left(\tilde{T}_{\sigma\delta}^{(2)}(q_{1}) (p-q_{1})_{\rho} f_{V\gamma(q_{2})}^{(R)} \right. \\ \left. + \tilde{T}_{\sigma\delta}^{(2)}(q_{2}) (p-q_{2})_{\rho} f_{V\gamma(q_{1})}^{(R)} \right) V_{\beta} f^{(V)} , \qquad (16)$$

$$\tilde{T}_{\sigma\gamma}^{(2)}(q_i) = [\tilde{r}_{\sigma} \ \tilde{r}_{\gamma} - \frac{1}{3} (\tilde{r} \cdot \tilde{r}) \ \tilde{g}_{\sigma\gamma}(p_{\psi})] B_2(Q_{\psi\gamma(q_i)R}) , \qquad (17)$$

$$\tilde{\iota}_{\sigma\gamma}^{(2)}(q_i) = [\tilde{r}_{\sigma} \ \tilde{r}_{\gamma} - \frac{1}{3}(\tilde{r} \cdot \tilde{r}) \ \tilde{g}_{\sigma\gamma}(p_R)]B_2(Q_{R\gamma(q_i)V}) , \qquad (18)$$

where $r = p_b - p_c$ is the relative four momentum of the two decay products in the parent particle rest frame.

For the production reaction $\psi \rightarrow \gamma 1^{-+}$ there are two independent covariant tensor amplitudes; there are also two amplitudes for the decay reaction $1^{-+} \rightarrow \gamma V(\rho, \omega, \phi)$, all in all we have four amplitudes,

$$U_{1}^{\mu\nu\alpha} = g^{\mu\nu} \Big(\tilde{T}_{\beta}^{(1)}(q_{1}) \, \tilde{t}^{(1)\beta}(q_{2}) \, f_{V\gamma(q_{2})}^{(R)} \\ + T_{\beta}^{(1)}(q_{2}) \, \tilde{t}^{(1)\beta}(q_{1}) \, f_{V\gamma(q_{1})}^{(R)} \Big) V^{\alpha} f^{(V)} \,, \tag{19}$$

$$U_{2}^{\mu\nu\alpha} = \left(\tilde{T}^{(1)\mu}(q_{1}) \ \tilde{t}^{(1)\nu}(q_{2}) \ f_{V\gamma(q_{2})}^{(R)} + \tilde{T}^{(1)\mu}(q_{2}) \ \tilde{t}^{(1)\nu}(q_{1}) \ f_{V\gamma(q_{1})}^{(R)}\right) V^{\alpha} \ f^{(V)} , \qquad (20)$$

$$U_{3}^{\mu\nu\alpha} = g^{\mu\nu} \Big(\tilde{T}^{(1)\alpha}(q_{1}) \, \tilde{t}^{(1)\beta}(q_{2}) \, f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}^{(1)\alpha}(q_{2}) \, \tilde{t}^{(1)\beta}(q_{1}) \, f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} \, f^{(V)}, \qquad (21)$$

$$U_{4}^{\mu\nu\alpha} = g^{\nu\alpha} \Big(\tilde{T}^{(1)\mu}(q_1) \, \tilde{t}^{(1)\beta}(q_2) \, f_{V\gamma(q_2)}^{(R)} + \tilde{T}^{(1)\mu}(q_2) \, \tilde{t}^{(1)\beta}(q_1) \, f_{V\gamma(q_1)}^{(R)} \Big) V_{\beta} \, f^{(V)} \,.$$
(22)

For the production reaction $\psi \rightarrow \gamma 2^{++}$ there are three independent covariant tensor amplitudes; there are also three amplitudes for the decay reaction $2^{++} \rightarrow \gamma V(\rho, \omega, \phi)$, all in all we have nine amplitudes,

$$U_{1}^{\mu\nu\alpha} = \left(P^{(2)\mu\nu\alpha\beta}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\mu\nu\alpha\beta}(p-q_{2}) f_{V\gamma(q_{1})}^{(R)}\right) V_{\beta} f^{(V)} , \qquad (23)$$

$$U_{2}^{\mu\nu\alpha} = g^{\mu\nu} \Big(P^{(2)\lambda\sigma\rho\delta}(p-q_{1}) \tilde{T}_{\lambda\sigma}^{(2)}(q_{1}) \tilde{t}_{\rho\delta}^{(2)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\lambda\sigma\rho\delta}(p-q_{2}) \tilde{T}_{\lambda\sigma}^{(2)}(q_{2}) \tilde{t}_{\rho\delta}^{(2)}(q_{1}) f_{V\gamma(q_{1})}^{(R)} \Big) V^{\alpha} f^{(V)},$$
(24)

$$U_{3}^{\mu\nu\alpha} = \left(P^{(2)\nu\sigma\alpha\lambda}(p-q_{1}) \tilde{T}_{\sigma}^{(2)\mu}(q_{1}) \tilde{t}_{\lambda\beta}^{(2)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\nu\sigma\alpha\lambda}(p-q_{2}) \tilde{T}_{\sigma}^{(2)\mu}(q_{2}) \tilde{t}_{\lambda\beta}^{(2)}(q_{1}) f_{V\gamma(q_{1})}^{(R)}\right) V^{\beta} f^{(V)},$$
(25)

$$U_{4}^{\mu\nu\alpha} = \left(P^{(2)\mu\nu\lambda\sigma}(p-q_{1}) \tilde{t}_{\lambda\sigma}^{(2)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\mu\nu\lambda\sigma}(p-q_{2}) \tilde{t}_{\lambda\sigma}^{(2)}(q_{1}) f_{V\gamma(q_{1})}^{(R)}\right) V^{\alpha} f^{(V)},$$
(26)

$$U_{5}^{\mu\nu\alpha} = \left(P^{(2)\mu\nu\alpha\lambda}(p-q_{1}) \tilde{t}_{\beta\lambda}^{(2)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\mu\nu\alpha\lambda}(p-q_{2}) \tilde{t}_{\beta\lambda}^{(2)}(q_{1}) f_{V\gamma(q_{1})}^{(R)}\right) V^{\beta} f^{(V)}, \qquad (27)$$

$$U_{6}^{\mu\nu\alpha} = g^{\mu\nu} \Big(P^{(2)\lambda\sigma\alpha\beta}(p-q_{1}) \tilde{T}_{\lambda\sigma}^{(2)}(q_{1}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\lambda\sigma\alpha\beta}(p-q_{2}) \tilde{T}_{\lambda\sigma}^{(2)}(q_{2}) f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} f^{(V)}, \qquad (28)$$
$$U_{7}^{\mu\nu\alpha} = g^{\mu\nu} \Big(P^{(2)\lambda\sigma\alpha\delta}(p-q_{1}) \tilde{T}_{\lambda\sigma}^{(2)}(q_{1}) \tilde{t}_{\beta\delta}^{(2)}(q_{2}) f_{V\gamma(q_{2})}^{(R)} \Big)$$

$$+P^{(2)\lambda\sigma\alpha\delta}(p-q_2) \tilde{T}^{(2)}_{\lambda\sigma}(q_2) \tilde{t}^{(2)}_{\beta\delta}(q_1) f^{(R)}_{V\gamma(q_1)} \bigg) V^{\beta} f^{(V)} ,$$
(29)

$$U_{8}^{\mu\nu\alpha} = \left(P^{(2)\nu\lambda\alpha\beta}(p-q_{1}) \tilde{T}_{\lambda}^{(2)\mu}(q_{1}) f_{V\gamma(q_{2})}^{(R)} + P^{(2)\nu\lambda\alpha\beta}(p-q_{2}) \tilde{T}_{\lambda}^{(2)\mu}(q_{2}) f_{V\gamma(q_{1})}^{(R)}\right) V_{\beta} f^{(V)}, \quad (30)$$

$$U_{\lambda}^{\mu\nu\alpha} = \left(P^{(2)\nu\delta\lambda\sigma}(p-q_{1}) \tilde{T}^{(2)\mu}(q_{1}) \tilde{t}^{(2)}(q_{2}) f^{(R)}\right)$$

$$+P^{(2)\nu\delta\lambda\sigma}(p-q_2) \tilde{T}^{(2)\mu}_{\delta}(q_2) \tilde{t}^{(2)}_{\lambda\sigma}(q_1) f^{(R)}_{V\gamma(q_1)} V^{\alpha} f^{(V)} .$$
(31)

For the production reaction $\psi \rightarrow \gamma 2^{-+}$ there are three independent covariant tensor amplitudes; there are also three amplitudes for the decay reaction $2^{-+} \rightarrow \gamma V(\rho, \omega, \phi)$, all in all we have nine amplitudes,

$$U_{1}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \ \epsilon^{\alpha\beta\rho\xi} \ p_{\sigma} \Big(\tilde{T}^{(1)\zeta}(q_{1}) \ (p-q_{1})_{\xi} \ \tilde{t}^{(1)\delta}(q_{2}) \\ \times P_{\lambda\zeta\rho\delta}^{(2)}(p-q_{1}) \ f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}^{(1)\zeta}(q_{2}) \ (p-q_{2})_{\xi} \ \tilde{t}^{(1)\delta}(q_{1}) \\ \times P_{\lambda\zeta\rho\delta}^{(2)}(p-q_{2}) \ f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} \ f^{(V)} ,$$
(32)

$$U_{2}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \ \epsilon^{\alpha\beta\rho\xi} \ p_{\sigma} \Big(\tilde{T}_{\lambda\xi\delta}^{(3)}(q_{1}) \ (p-q_{1})_{\xi} \ \tilde{t}_{\rho\xi'\delta'}^{(3)}(q_{2}) \\ \times P^{(2)\xi\delta\zeta'\delta'}(p-q_{1}) \ f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}_{\lambda\xi\delta}^{(3)}(q_{2}) \ (p-q_{2})_{\xi} \ \tilde{t}_{\rho\xi'\delta'}^{(3)}(q_{1}) \\ \times P^{(2)\xi\delta\zeta'\delta'}(p-q_{2}) \ f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} \ f^{(V)} , \qquad (33)$$

$$U_{3}^{\mu\nu\alpha} = \epsilon^{\nu\lambda\sigma\zeta} \epsilon^{\beta\rho\delta\xi} p_{\zeta} \Big(\tilde{T}_{\sigma}^{(3)\mu\lambda'}(q_{1}) (p-q_{1})_{\xi} \tilde{t}_{\delta}^{(3)\alpha\rho'}(q_{2}) \\ \times P_{\lambda\lambda'\rho\rho'}^{(2)}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}_{\sigma}^{(3)\mu\lambda'}(q_{2}) (p-q_{2})_{\xi} \tilde{t}_{\delta}^{(3)\alpha\rho'}(q_{1}) \\ \times P_{\lambda\lambda'\rho\rho'}^{(2)}(p-q_{2}) f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} f^{(V)} , \qquad (34)$$

$$U_{4}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \ \epsilon^{\alpha\beta\rho\xi} \ p_{\sigma} \Big(\tilde{T}^{(1)\zeta'}(q_{1}) \ (p-q_{1})_{\xi} \ \tilde{t}_{\rho}^{(3)\delta\zeta}(q_{2}) \\ \times P_{\lambda\zeta'\delta\zeta}^{(2)}(p-q_{1}) \ f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}^{(1)\zeta'}(q_{2}) \ (p-q_{2})_{\xi} \ \tilde{t}_{\rho}^{(3)\delta\zeta}(q_{1}) \\ \times P_{\lambda\zeta'\delta\zeta}^{(2)}(p-q_{2}) \ f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} \ f^{(V)} \ , \tag{35}$$

$$U_{5}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\beta\rho\delta\xi} p_{\sigma} \left(T^{(1)\zeta'}(q_{1}) (p-q_{1})_{\xi} \tilde{t}_{\delta}^{(3)\alpha\zeta}(q_{2}) \right. \\ \left. \times P_{\lambda\zeta'\rho\zeta}^{(2)} f_{V\gamma(q_{2})}^{(R)} \right. \\ \left. + \tilde{T}^{(1)\zeta'}(q_{2}) (p-q_{2})_{\xi} \tilde{t}_{\delta}^{(3)\alpha\zeta}(q_{1}) \right. \\ \left. \times P_{\lambda\zeta'\rho\zeta}^{(2)} f_{V\gamma(q_{1})}^{(R)} \right) V_{\beta} f^{(V)},$$
(36)
$$U_{6}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\sigma} \epsilon^{\alpha\beta\rho\xi} p_{\sigma} \left(\tilde{T}_{\lambda}^{(3)\zeta'\delta}(q_{1}) (p-q_{1})_{\xi} \tilde{t}^{(1)\zeta}(q_{2}) \right)$$

☑ Springer

$$\times P_{\zeta'\delta\rho\zeta}^{(2)}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} + \tilde{T}_{\lambda}^{(3)\zeta'\delta}(q_{2}) (p-q_{2})_{\xi} \tilde{t}^{(1)\zeta}(q_{1}) \times P_{\zeta'\delta\rho\zeta}^{(2)}(p-q_{2}) f_{V\gamma(q_{1})}^{(R)} \right) V^{\beta} f^{(V)} ,$$
(37)

$$U_{7}^{\mu\nu\alpha} = \epsilon^{\mu\nu\lambda\delta} \epsilon^{\rho_{1}\rho_{5}} p_{\sigma} \Big(T_{\lambda}^{(3),5}(q_{1}) (p-q_{1})_{\xi} t_{\rho}^{(3)\alpha\delta}(q_{2}) \\ \times P_{\zeta\delta\tau\delta'}^{(2)}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}_{\lambda}^{(3)\zeta\delta}(q_{2}) (p-q_{2})_{\xi} \tilde{t}_{\rho}^{(3)\alpha\delta'}(q_{1}) \\ \times P_{\zeta\delta\tau\delta'}^{(2)}(p-q_{1}) f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} f^{(V)} , \qquad (38)$$

$$U_{8}^{\mu\nu\alpha} = \epsilon^{\nu\lambda\sigma\zeta'} \epsilon^{\alpha\beta\rho\xi} p_{\zeta}' \Big(\tilde{T}_{\sigma}^{(3)\mu\zeta}(q_{1}) (p-q_{1})_{\xi} \tilde{t}^{(1)\delta}(q_{2}) \\ \times P_{\lambda\zeta\rho\delta}^{(2)}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} \\ + \tilde{T}_{\sigma}^{(3)\mu\zeta}(q_{2}) (p-q_{2})_{\xi} \tilde{t}^{(1)\delta}(q_{1}) \\ \times P_{\lambda\zeta\rho\delta}^{(2)}(p-q_{2}) f_{V\gamma(q_{1})}^{(R)} \Big) V_{\beta} f^{(V)} , \qquad (39)$$

$$U_{9}^{\mu\nu\alpha} = \epsilon^{\nu\lambda\sigma\zeta} \epsilon^{\alpha\beta\rho\xi} p_{\zeta} \left(\tilde{T}_{\sigma}^{(3)\mu\delta}(q_{1}) (p-q_{1})_{\xi} \tilde{t}_{\rho}^{(3)\lambda'\delta'}(q_{2}) \right. \\ \left. \times P_{\lambda\delta\lambda'\delta'}^{(2)}(p-q_{1}) f_{V\gamma(q_{2})}^{(R)} \right. \\ \left. + \tilde{T}_{\sigma}^{(3)\mu\delta}(q_{2}) (p-q_{2})_{\xi} \tilde{t}_{\rho}^{(3)\lambda'\delta'}(q_{1}) \right. \\ \left. \times P_{\lambda\delta\lambda'\delta'}^{(2)}(p-q_{2}) f_{V\gamma(q_{1})}^{(R)} \right) V_{\beta} f^{(V)} .$$
(40)

Acknowledgements We thank Beijiang Liu for useful discussions. The work is supported by the National Natural Sciences Foundation of China under Grant Nos. 11965020, 11621131001(CRC110 cofunded by DFG and NSFC), 11835015 and 11947302.